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Run 5891 mpswise, accO: All

Enilries: S03I76
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Run 5891, mpswise, acc0: Beam ON, Laser ON

Enitries: 200142

Mean: 15,6581 /- (0034
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Run 5891 mpswise, accQ: Beam OFF

- Enlrie=: 57342

Meari: 000072 +/- 0.0005

Sid Dev: 01247 - 0.0004

L
|

0 2 4 6 B 10 12 14
AccliNAccD

Run 5891, mpswise, acc0: Beam ON, Laser OFF

Eniries: 2023149

Mear: 322371 - 00010

Sid Dev: 04505 - 0.0007
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Run 5891 mpswise, BCM: All
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Enilries: S03I76

Mean: 120.5600 +/- 0.0725

Sid Dey: 51,3988 +- 00612
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Run 5891, mpswise, BCM: Beam ON, Laser ON

Enitries: 200142

Mean: 1449948 +/- 0.0OTE

Sbd Dew: 34174 +- 0.0054
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Run 5891 mpswise, BCM: Beam OFF

Enlries: 57342

Mean: 00002 4+~ 0.0001

Sid Dey: 00176 +- 0.0001

Run 5891, mpswise, BCM: Beam ON, Laser OFF

Eniries: 2023149

Mean: 144 4857 +/- 00709

Sid Dev: 49210 - 0.0077
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Run 5891 mpswise, lasPow: All
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Run 5891, mpswise, lasPow: Beam ON, Laser ON
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__ Mean: 2094 4768 .- 03972
: Skd Dey: 1778788 +/- 0.2008
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Run 5891 mpswise, lasPow: Beam OFF
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Run 5891, mpswise, lasPow: Beam ON, Laser OFF

- Eniries: 2023149

Mean: 10.6049 & 00219

Sid Dev: 50405 +- 0.0155
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Run 5891 mpswise, bpmAx: All Run 5891 mpswise, bpmAx: Beam OFF
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Run 5891 mpswise, bpmAy: All

Enilries: S03I7E6

Mean: 00696 +- 00001

Sid Dz 0.0474 - 00000

Run 5891, mpswise, bpmAy: Beam ON, Laser ON

Enitries: 200142

Mean: 00745 4~ 0.0004

1 Sid Devy: 00226 - 00000
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Run 5891 mpswise, bpmAy: Beam OFF

Enlrie=: 57342

Mean: 000294 +/- 0.ODS

Sid Drev: 017144 4 00003
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Run 5891, mpswise, bpmAy: Beam ON, Laser OFF

Eniries: 2023149

Mean: 0U0T4E +/- 0,000

Sid Dev: 00237 - 0.0000
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Enltries: SK3278

Mean: 001621 +- 0.0015

Sid Dev: 1.0642 &~ 000711

Run 5891, mpswise, bpmBx: Beam ON, Laser ON
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Run 5891, mpswise, bpmBy: Beam ON, Laser ON
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Run 5891, mpswise, bpmBy: Beam ON, Laser OFF
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Mean: 08554 +- 0.0007
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Run 5891 mpswise, beam ON, laser ON Run 5891 mpswise, beam ON, laser OFF
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Run 5891 mpswise, beam OFF, laser ON Run 5891 mpswise, beam OFF, laser OFF
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Run 5891 mpswise, beam ON, laser ON
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Run 5891 mpswise, beam OFF, laser ON
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Run 5831 mpswise, beam ON, laser OFF

Tl

ALL
|

nrlr- 1 r'fl AN T W "lfﬁ

-

L] Ihr

100

200

300

400

500

600

700

800

Run 5891 mpswise, beam OFF, laser OFF
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Run 5891 mpswise, beam ON, laser ON
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Run 5891 mpswise, beam OFF, laser ON

100 200 300 400 500 600 700 BOO 900
mpsCoda

«10°

*10

Cav Power

Cav Power

2000

1500

1000

500

2000

1500

1000

500

Run 5831 mpswise, beam ON, laser OFF

¥y |y fa=El =330 FIfE3a | FIScE w573 F3 =33 Fi=Es s FF o °F 4=F3
100 200 300 400 500 600 700 BOO 900
mpsCoda

Run 5891 mpswise, beam OFF, laser OFF
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BPM Ax

BPM Ax

Run 5891 mpswise, beam ON, laser ON
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Run 5891 mpswise, beam OFF, laser ON
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Run 5831 mpswise, beam ON, laser OFF
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Run 5891 mpswise, beam OFF, laser OFF
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Run 5891 mpswise, beam ON, laser ON
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Run 5891 mpswise, beam OFF, laser ON
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Run 5831 mpswise, beam ON, laser OFF
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Run 5891 mpswise, beam OFF, laser OFF
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Run 5891 mpswise, beam ON, laser ON
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Run 5891 mpswise, beam OFF, laser ON
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Run 5831 mpswise, beam ON, laser OFF
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Run 5891 mpswise, beam ON, laser ON
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Run 5831 mpswise, beam ON, laser OFF
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Run 5891 mpswise, beam OFF, laser OFF
- (AN N AN T N T A T A N T N T A T N O A 0 O Y
100 200 300 400 800 600 700 800 Q00
mpsCoda

x10"

=10



